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������! 1 ��6!*���!���&���7)�8�)��!���	
����9 

1.1 ����:�������6*���	*���7���;1<�� 

���2��P 0 ��5��������	
�����
-� ���2��P E3�13%����1�I����	��#� ���)<Q��  
���
-��
����� 9 6 14 ������� 2552 '3���=��(�
� 3����� 

(1) ���1=��1��������
� H.E. Lyonchhen Jigmi Y.Thinley ������+��,��=��)<Q��  

������+��,��=��)<Q��E3��&-�

-� )<Q��E3������.5���b 2009 1�O��b0�-� 
Science and Technology LB��
�,D
���(��/��B�� �I� ���5	� IT 	-
�5��1�%3(����0�-��
���<� 
(Knowledge Society) 1*I��	-
�*�:�����1�.5�3���,-��j 1	-� 1�9,����� �
,(������ 0&�
���.B�9� '3����1�.E��1�O����1�.*��2�%,����)<Q�����
���-
��I�3�
� *���������&-�
=���
#
���1�.E�����5���
��	-
�1�&I�0�-)<Q��5��&��j 3��� 0&�E3�0(3��
���%�3�,-��
��(4�1�F 5�
�
���-
��I����
-�� DIT (Department of Information Technology) 0&�.<��/1��'�'&��
�%1&F�����%�(/0&����*%
1,��/0�-�	�,% (1��1��) �
�������� �3���	
� The 3rd Working 
Committee Meeting ���
-�� DIT 0&�1��1�����3�
� 

(2) ������	
� The 3rd Working Committee Meeting on the Implementation of  
the DIT - NECTEC Memorandum of Understanding  

1��1��0&� DIT �����34�1�%��
���-
��I����
-����� '3�1��1��5�����
����0�-���
% ��)<Q�� 3��� Dzongkha Optical Character Recognition (OCR) 0&�5���������0&�
�-
�
% ��3��� Dzongkha Text-to-Speech Synthesizer LB��?&?&%,���E3� ���������0&��-
�
% ��
���
-�����
% ��)<Q��0&����
% ��=��1��1��5��������� �I�  

• ,��0��=��'��0���(��1�����/1(���*<3)�9� Dzongkha (prototype 
of Dzongkha TTS)  

• ���
% ��=��1��1��0&����
% ��)<Q�� �-
�����4�1(��?&���
% ��5�
��
=�� |Pioneering Dzongkha Text-to-Speech Synthesis~ 5����
���	
�����	�,% Oriental - COCOSDA 2008 ���
-��
�����  25 6 27 
*C. %���� 2551 # 1�I��1���
', ���1�.$���
�� 

��� ����� 1��1��0&� DIT ��0?�����
���-
��I�5��b 2553 �I� �-
����

% ��0&�*�:�� Dzonkha Text-to-Speech 5� Phase ��� 2 '3� ��4�5�� Synthesized Speech  
���
��1�O�2���	�,%���=B��  0&������13F��
���-
��I�5��-1*%��1,%� �I� 3��� Dzongkha-English 
Speech Translation, Dzongkha OCR 0&� Open Source Software '3�)<Q��(�5 �-
��I�3��� 
e-Learning 0&� Digitized Bhutan   
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(3) (�
�������	
����I�����&�3�����
�1�9,�0&����3<�����-
����)��5,�
�����
�1�9,� 

Mr. Sherub Gyaltshen �&�3�����
�1�9,�=��)<Q�� 0&��#�?<���%���
��3��(<�=�������
�P E3�5�����,������ '3��&�3�����
�1�9,�=��)<Q�����
��1�F�
-����?-����
)<Q���������
���9/���*������-��0=F�=�� 0,-�%3
-�DB�1
&�0&�
������1�.�
� ��4����*����1�&-����
��5	� ��� ����� E3� �35��������4�1(�� 2 1�I��� �I� 

• (�
��
���-
��I�1�I�����0�&����
-�����1�.E�� 0&�)<Q�� 
'3����
% ������E�� �I� 3�.E�1 & E�1
&-' �(/ ���
% ��E�'�1�� 0&� 
���
% ������)<Q�� �I� ���	%�%&� ���
% �� ��.<��/
% �����*���� 
2���	�,% 6 �<L%0��  (Renewable Natural Resources Research 
Centre 6 Yusipang) (4������
���-
��I�5�����,���� 3�.E�1 & 
1(��
-� �������-
����(4��
 D���1	-�5�)��,-��j =��)<Q�� 1�I��� ��
���1�.������
���&���&�����	�
)�*��<-��� 0&� �3�4� DNA 
Sequencing 0&� Chemical profile =��,�
��-��D���1	-� 72 ,�
��-�� 
1 *I� � 1 �O �=� ��< & 1 	% � 1 ��&� �9#/ 0 & �( ��� �D 5	� *% (<  �/ 
- � 1 �O � 
D���1	-�=��0�� ��� ����� .<��/
% ��P ����$��1�I������ 
)�#;/?&%,?&
���1�9,� LB�������
�
%���.�(,�/0&�1��'�'&�� '3�(D����
% ��

%���.�(,�/0&�1��'�'&��0�-����1�.E�� (

.) 0&� (4�������P 
�� 1=��E�	-
�1�&I�(���(�
�E3� 

• 0���4�.<��/�
���&���&�����	�
)�*0�-�	�,% (National Biodiversity 
Centre, NBC) =��)<Q�� '3����L%�1� 3��/ � 0&� 3�. ��	% ���L�� 
1�O�?<��4�	�2�����1�F�*��2
����*I	0&�*��2
����(�,
/ (Crop Gene 
Bank 0&� Animal Gene Bank) LB��.<��/P ����$��1�I�������4� 
Molecular characterization =��,�
��-��*��2
����*I	0&�(�,
/  
'3�.<��/*��2

%.
����0&�1��'�'&��	�
)�*0�-�	�,% (E�'�1��) �� 
1=��E�	-
�1�&I�(���(�
�E3� ��� ����� 5�1�I������.B�9����5	�
���'�	�/ �����*����	�
)�* (Bio-prospecting) LB��.<��/P  �1�%��
*�:�� 0&�1�O����
% �����,-���3 �����1�F�0&�(4��
 D���1	-�����   
E�'�1��LB�������(����#/����4�
% ��1�I������1�O���-��3� (����D1=��E�
	-
�1�&I�5���4�0���4�0&�*�:���
�&���
% ��5��E3� ��� ����� E�'�1�� 
�F(����DD-����3�
���<�0&����(����#/��� �3���3���1��(��
(�$$�,-��j ���5	�5�����-
��I�0&�0&�1�&���� 
&%�����/0&�,�
��-��
*��2
����(%����	�
%,�����-
����,-�����1�. E3�0�- 1��(�� Material 
Transfer Agreement, 1��(�� Material Acquisition Agreement 0&�
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'�13&�
���-
��I���������0�-����?&���'�	�/�-
���� (Access and 
Benefit Sharing) E3� 

�&�� ������ E3� �35�������.B�9�3<�����-
�����I��j ��� 2 0�-� 3����� 
• '�������
���-
��I�����<&�%2%'�������&
� ���.<��/
% �����*���� 

2���	�,% 6 �<L%0�� '3������ %��� 
��3� ?<��4��
����.<��/
% ���4�	�
0�&��3&���&<�?&E�� 1	-� 0��1�J�& 0&�*�	 ���E3�������(���(�
�
�&��*��2
/0&��
��	-
�1�&I����1���%�  ���<&�%2%'�������&
� 

• (D������%���0*��/0?�'���# (Institute of Traditional Medicine 
Services) LB��1�O���-
����)��5,������
�1�9,� '3��� Mr. Dorji 
Wangchuk ?<��4��
����(D���� 1�O�?<��4�3<���5�(-
�*%*%2)�#;/ 
����(�
3,4�����(�
�E*� 0&�����1�����&��(<,����0*��/0?�'���# 

1.2 0�������	
�
�������������;�
��=����*�	�:)����������������
��
������ 
�� ���! 1/2552  

���2��P 0 ��5��������	
�����
-� 5�������	
��#���������-
�)����+0&�
1��	�3���
%���.�(,�/0&�1��'�'&�� (���.
�.) �������� 1/2552 1�I��
����� 3 ������� 2552  
������	
����,%5�������
�
%���.�(,�/0&�1��'�'&��  �3,�����%9��=B����34�1�%������31&I��
?&���
% ���������<-1�O� 4��
���� 1*I��.B�9�'���(5�����4�?&���
% ��1�&-�����E�34�1�%����5�1	%�
2
��%  1*I��1�O�,�
��-��5�����4�?&���
% �����
%���.�(,�/0&�1��'�'&��E�(<-)�����?&%,5�1	%�
2
��%  1�O�,��0��5�����)��1��	�  0&�5	��&E�=�������
�
%���.�(,�/P 5����	-
�2
��%  
SMEs 5����&3,���
� 0&�(����?&�4�E�   

����4�*�P �������?<�����
#

:% 1(��5��(�����&E��
���-
��I����
-�� 
���.
�. 0&�(4�������(-�1(�%�
%(���% =��3�&��0&�=��3�-�� (((
.) 1�I��� �� ((
. ���������
�4���3�'�������(-�1(�%� SMEs 0&�1�O�.<��/�&�����(����������4����=��)����+0&�
1��	� '3���)���% (4���$��������B�� �I� 5���<��I�1�%�/1=���-
��% �������
��&�I�� ��I�DI��
��5�
��%9�� 4���3 ��I���%9�����	� 4���3 1*I�����'�	�/0�-���(-�1(�%�
%(���% =��3�&��0&�=��3�-�� 

1.3 ��������8�9���>�.)*����
��������6*��9�����������&��� 

���2��P 0 ��5��������	
�����
-� 1�I��
�����  31 (%����� 2552 �����
� 

%���.�(,�/0&�1��'�'&�� E3�&����5�����B�=��,�&��
���-
��I���������
�
�:�2��� 5����
1	I���'��1��I�=-��=���<&�&�����
�:�2���5�����3% %��&1*I��1�O����*�:���
�
�:�2���0&�
(-�1(�%�����-��1����
1	%�
�:�2��� 
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1.4 ���-
�����
� ��?����� ���	� ��: 0�0��� �����*9������
���*9���.*�
01)*,��������,�������/ 

���.���%���/P �������0&�1&=��
��� E3�1����������	
�����
-� 5����
���
���	
��#��������*�:��
%���.�(,�/0&�1��'�'&��0�-�	�,% (�
�	.) ��������  6/2552  
1�I��
����� 10 (%����� 2552 ������	
�E3����,%��
��,%
�,D
���(��/ 1�N����� ,�
	��
�3 ?&?&%, 0&�
����
�1�%��-�,��0��=��?<��4��
����(4�������P 1*I��5	����������(����?<��4��
����
(4�������P '3�5������1&=��
���P  �3�4�����(I�DB�(4������� �.*.�. 1*I������,-�E� ��3��� 
(4������� �.*.�. E3�������(I�DB�(4�������P 0 ��
-� �������
�,D
���(��/ 1�N����� ,�
	��
�3 
?&?&%, 0&�����
�1�%��-�,��0��=��?<��4��
����(4�������P 1*I��5	����������(����
?<��4��
����(4�������P 0&�
  

������	
�������� 

������! 2 ��9�*�������������	
� 
�� ���! 6/2552 

���.���%���/P �������0&�1&=��
��� E3�1����������	
�
-� ����1&=��
���P E3�(-�
������������	
� �
�	. �������� 6/2552 1�I��
����� 10 (%����� 2552 5�� �
�	. �
��-��*% ��#�0&�
 
����Q
-�E�-���������=�0��E=  B�=�1(��������	
�*% ��#�������������������	
� �
�	.  
�������� 6/2552 1�I��
����� 10 (%����� 2552 

������	
�E3�*% ��#�������������	
�0&�
 ������'3�E�-�����0��E= 

������! 3 ���������:@�����������������
������ 
3.1 ;�������)*���������7��:)���������8�������2�� 

   ���2��P =�5��(4�������P �������
���I�����=�����13F�1(
�����E3��4�1(��
,-�������	
� �
�	. E�0&�
 5��������	
��������5�'���(,-�E�3�
� 

 ������(%�2/P  �������?<�����
#

:% E3�	��0 �������	
�
-� ���
% ��3���*&����� 
���
��(��*��2/���()�
�'&�����  1�I��� ����,����0��E=��$��()�
�'&����� �1�O���  ��
(4���$5�����4���3����0&��'�������
% ��3���*&����� 3������   B�=�(�
����13F�(4���$ 
���1����
���()�
�'&�����0&����
% ��3���*&�����5����1�.E�� 3����� 

•  ()�
�'&����� (Global Warming) 0&���,����0����$�� :  ��=���<& IEA 
World Energy Outlook 2007 *�
-����5	�*&�����=��'&�5��b 2006 �������# 12,000 Mtoe  
'3�0�-����1�O����5	�*&����� ��M�(L%& (��4����, ���L2���	�,%, D-���%�) 80.3% *&�����
��
�1
��� 13.2% 0&�*&���������#< 6.5% ����,�����5	�*&�����1*%��=B��5�	-
� 10 �b���?-���� 
1G&����b&� 2.5%  0&�������&-�����L CO2 1*%��=B����-��,-�1�I��� '3�5��b 2009 �������# 2.8 Gt 
0&� �1*%��1�O� 3.8 Gt 5��b 2030  LB�����E�-�����0����$�� ��4�5���
��1=��=��=�����L CO2  
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 �1*%�� �� 380 ppm 5��b 2005 1�O� 700-1000 ppm 5��b 2100 0&��
#�)<�%?%
'&�1G&���1*%��=B�� 
6 oC  5��b 2100 �������  ��?&����4� modeling =�� Intergovernmental Panel on Climate 
Change (IPCC)  �,������9��
#�)<�%?%
'&�1G&���1*%��=B��E�-1�%� 2  oC �
��1=��=��=�����L CO2  
5��������.E�-1�%� 450 ppm   �&3����&-�����L CO2 &�E3� 50% 5��b 2050 '3���1��'�'&�� 
���(����D&3����&-�����L CO2 ���(<-�������. E3�0�- (1) *&�������
�1
��� (*&�������4�   
	�
�
& 0(����%,�/ &� P&P) (2) ���1*%�����(%�2%)�*���5	�*&����� (3) *&���������#<  
0&� (4) CO2 6 Capture and Storage (CCS) 3������  1*I��5��(����D��=��(�
���,����0����$��
()�
�'&����� 5�������	
������
�'�1��1�1�� ���1�.13����/� 5�13I��2��
��� 2552  ������
1 � �1*I����=��,�&�0�-��
�����?%3	��=�����1�.,-��j ��� �&3����&-�����L CO2 1*I��5��
1�O�E�,��0?��
�2.�(,�/ 450 ppm / 2  oC   

•  ?&�����=����,����&3����&-�����L���/���E3���EL3/ (CO2) ,-�����
*&�����=��'&�0&����1�.E�� LB�����&3����&-�����L CO2 ,���
�2.�(,�/ 450 ppm / 2

 oC  
 ���?&�����,-����*�:��1.�9+�% 0&����1�I��=�����1�.��-���
�0�� 3������  B�,�����
�
�2.�(,�/5����1�&����1��'�'&��5�)��1.�9+�% ���(4���$j 1	-� ?&%,*&�����EMMN�, 
�
,(������, =�(-�, �����<-��.��/�����*�#%	�/  LB���&�����1�.��0�
'������ �5	�1��'�'&��5��- 
���&3����&-�����L CO2 5�������,
��1.�9+�%  �
����������,���?<���%�����3��(<�1*I�����?%3	��
1�I������1�&����0�&�()�*)<�%����. (Climate Change)  '3�,��  3������ ���1�.���*�:��0&�

,���1(�� 4��
�1�%���� �5�����(���(�
�0�-���1�.����4�&��*�:����-��	�31 �1*I���
��
�����&-��
���L CO2 

•  ���1,�������1=��(<-1.�9+�% �
� 4���3���/���5����1�.E�� LB�����1�.E��
 �,�������1�&�������5	�0�&-�*&�����0&�1��'�'&�� 5�)��1.�9+�% ���(4���$1*I��&3����&-��
���L CO2 '3����5	���,���� 0�� Bilateral E3�0�- (1) ���5	����� Carbon footprint 0&�G&��
���/��� (2) ����4���3���(%�2%)�*=��?&%,)�#;/ '3�E�-�&-�����L CO2 1�%��
-�����4���3  
�
�DB���,����0�� Sectorial 1�O�=��,�&�1G*���
,(������5��&
-����1�. '3�5	�3�	��	��
�3 
���1����(�1�O�,�
�4���3 

•  (D��)�*=��1��'�'&��*&��������(4���$ E3�0�- (1) (D��)�**&�����
��
�1
��� (REs) 1�O�1��'�'&�����0���<�*&�������
�1
���1�O�*&�����EMMN�0&�1	I��1*&%�1�&
 
1*I�����=�(-� 0&����?&%, Biogas  ��=��1(�� 0,-.���)�*5�1	%���%��#E�-(<�*���� ��30��
1	I��1*&%� ��M�(L%&E3�  (2) (D��)�*���1*%�����(%�2%)�*���5	�*&����� (EE) 1��'�'&��(-
�
5�$-���
��*���� 0,-,���5	���,���� <�5 3������1�%� 0&�)�9���������(%�2%)�* (3) (D��)�*
=�� Ethanol ?&%,E3� ��*I	&��&
�����&���&�� 0,-������
��1(��1�����1�I���*&����� LB�����-��
��
����,�4� 0&�����$��3��� Carbon Footprint, Energy Footprint 0&� Water Footprint  (4) (D��)�* 
Biodiesel 5���-��
������(<� ��.���)�*��� �1�O�1	I��1*&%�=������.��� 0&����
��,������ 
5�����,(<� 0,-*I	���5	�1�O�
�,D
3%�1*���&<���� (5) (D��)�**&���������#< (Nuclear Fission) 
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���
��*����=��1��'�'&�� 0,-����$���
��1	I������=��(����1�I����
���&�3)��0&�������%���
 �3��� �
�DB�����&-��=��1(�� ��'�����  0&� (6) Fuel Cell Technology ���E�-(����D0=-�=�� 
E3�5�1	%�*�#%	�/)��5� 15-20 �b  ��� �� �,��������*�:����-�����
���'33 (breakthroughs) 

•  �������
% ��0&����
% ��3���*&�����5����1�.E�� 5�	-
� 3 �b ���?-����
���1�.E��5	��������#5����
% ��3���*&����������# 2,500 &������ ����  �����5	�5����
�4���3�������
% ��3���*&����� E3�0�- (1) 1*%���
��������3���*&����� (2) �
��
���3�����
�&-�����L CO2 0&� (3) .���)�*=��0�&-�*&�����)��5����1�.  '3����1�.E����0�&-�
*&��������(4���$ E3�0�- (1) *&�������
�1
��� (2) ���L2���	�,%  (3) &%�E��/ 0&� (4) *&�������4� 
LB��*&�����	�
�
&1�O�*&�������
�1
������(4���$0&���.���)�*(<�(
31�I��1�������*&�����
��
�1
����I��j   B�E3�1������
% ��'3�5	�1��'�'&���������<-0&�
 1*I��1*%��.���)�*0&�5	��30��
*&�����M�(L%&   

 B�=�1(��������	
��������0&�*% ��#�5��=���%31�F�,-�)�
�'&�����0&���� 

% ��3���*&�����5����1�.E�� ���&�1���3,��1��(��������������	
� 

����4�*�P �������?<�����
#

:% E3�5���
��1�F�
-� )���
,(������5�
���1�.E�������5	�*&�����DB� 75%  '3����1�9,���5	�*&�����1*��� 25% 3������ ������ �5��
���1�.E��5	�*&�����&3&�  �,���34�1�%��������'���(�����
,(������ �
�DB� �,���(����
 %,(4��B�5����5	�*&�����5��������	�	� 

�������P �������?<�����
#

:% E3�5���
��1�F�
-�  �����'�������
% ��
3���*&��������1����
���()�
�'&����� ���
��1	I���'�����'���(�������1.�9+�%   3������ ���
% ��
1����
���'&�����0&�*&����� B�1�O�(%��(4���$LB��(4�������P  �,����4���3���13F����
%���.�(,�/
0&�1��'�'&�� �1=��E���(-
��-
�1*I��5��1�%3���'�	�/ 0&� �,���.B�9��
��1����(�=�� 
1	I��1*&%����1)�,-��j 5����?&%,*&����� 1*I��5	�1�O�=���<&5���� �3�4��'����0&�
��0?�3���
*&����� ������� �����
�
%���.�(,�/0&�1��'�'&�� ��  ��4��������1�O�1 ��)�*�&�� 5����(����
�
��,������ �
���<�0&��
��1=��5 1�I������5	�*&����� �
�DB�*&������%
1�&���/5��������	�	�   

���(

%��/P �������?<�����
#

:% E3�5���
��1�F�
-�(4�������P  �,��������

% ��1	%�(����5����13F����1�&����0�&�()�*)<�%����. (climate change) 5�����=B�� 1�I��� ��
1��'�'&�������-����  �3�0,-(�������E�-������ 3������ 1*I��5��1�%3���(%�2%)�*(<�(
3  B�,���5��
)��(����1=������(-
��-
�5����,�3(%�5   0&�(�����
��1=��5 5�1�I���,-��j 1*I��5�������
1�&����0�&�*C,%����  

���34��%P �������?<�����
#

:% 5��=���<&1*%��1,%�
-� '��EMMN��%
1�&���/  
1�O�'�����������?&�������-���
�0�� LB� �,����4����
% 1�����/?&�����(%� �0
3&��� 
(Environmental Impact Assessment : EIA) ������1�%�?&��������(
=)�* (Health Impact 
Assessment : HIA)  0&�=��
��1�F�	�� �����/���%(��  LB�����2��P 5��=���<&1*%��1,%�
-�
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(4�����������#<1*I��(��,% E3�34�1�%����5�1�I���3���&-�
E�0&�
 4 ����� ����5�)��1��I�   
)��,�
�����1G���1��I�0&�)���&��  �
�DB�E3������ �3�-��1��
	�1*I��5���
���<�1�I����%
1�&���/ 

���*%1	+P �������?<�����
#

:% 5��=���<&1*%��1,%�
-� (4��������#�������� 
�'����
%���.�(,�/ 1��'�'&��0&��
�,����0�-�	�,% ((
��.)  �34�1�%���� �3�4�0?�

%���.�(,�/1��'�'&��0&��
�,����5� 10 �b=������� LB�� (
��. �%�3��-
��I�����&�(1,��/*&�����
5���� �3�4� white paper 1*I��.B�9�()�
�0
3&���0&��%.���1.�9+�% =�����1�.   

��B�� ���2��P E3�5��=���<&1*%��1,%�
-�  ��%9�� ������'L&��/ *�
1
��/  4���3  
0&���%9�� &�'��%�(/   4���3 E3��-
���� �3(�����1�I��� |'��EMMN�*&�����0(����%,�/~ 1*I��(����
�
��1=��5 ���D<�,���5�����?<����(�5 &��
�5�2
��% '��EMMN�*&�����0(����%,�/  '3�1�I�������
(�����0�-����1�O� (1) ���5���
���<�1����
���*&�����0(����%,�/ (2) ���5���
���<�1����
�������
*&�����0(����%,�/=��35�$- =���,��0&���1����5�����I��=�,-�1	I�������0&��������#���
&��
� 0&� (3) ���0���4�'������(%�1	I��*&��������1����
=��� '3��4����E3� �����(������&�����
�-�5	� -�����5������<&�%2%(D������	*C�9/  3������  B�1(��5��������(%�2/P 0&�(4�������P 
�-
���� �3(�����1�I���)�
�'&�����0&����
% ��3���*&�����5����1�.E�� '3�5��1	%$ �
�	.  
1=���-
�3�
� 1*I���
��
�=���<& �������3��
���%31�F�=���
�)��(-
� 0&�������?&������
(�����5��������	
� �
�	. �������   

��� �����  ������	
�E3��)%���������-���
���=
�� '3���=��(��1�,0&�
=��1(��0��1*%��1,%� 3����� 

1. 5��*% ��#�1(�����13F�)�
�'&�����,-�������	
��#���+��,�� *% ��#�
��
��,%0?����34�1�%���� 1*I��5�����34�1�%����,-��j ���
��1	I���'��
���
-����-
�������1����
=��� 

2. 5��*% ��#�0,-�,����#��������1G*���%  1*I��.B�9�1�I���)�
�'&�����0&�
���
% ��3���*&�����5����1�. 0&��������
�����
����,-�������	
� 
�
�	. �
� 3 13I�� 

3. �
�5���
��(4���$5�1�I������*�:���4�&���� 0&� productivity improvement 
��-��,-�1�I��� 

4. �
�.B�9�0&�
% ����-�� �%� ��1*I��5��1�%3 improve yield 5�)�*�
�=��)��
���1�9,�  1�I��� �����1�.E����.���)�*5����?&%,*I	�����0&�*I	
*&�����   

�����!���	
�  5��(4�������P ���=��(��1�,0&�=��1(��0��=��������	
�E�*% ��#�34�1�%���� 
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������! 4   ��6!*���6!*��7���� 
4.1 ������
����!�8�9��A���1�����7����������*����*����@�2�� 7,���: 

 ����
�.��3%HP ���?<��4��
����(4�������P E3�	��0 �������	
�
-� ,������#��������
*�:��
%���.�(,�/0&�1��'�'&��0�-�	�,% (�
�	.) E3����,%5����
������	
��������� 6/2549  
1�I��
����� 29 ������� 2549 ��
��,%���0���<�'������,�
 (��0&�����
&?&(D%,%���1�����	�
1
F�EL,/���1�.E�� (Truehits.net) =��(4������%���1��'�'&��(��(�1�.)����+ ((���.) 1*I�� �3,���
1�O���%9�� .<��/
% ��(��(�1�.�%�1,��/1�F,E��  4���3 ()���&��E3�=�1�&����	I��1�O���%9�� .<��/
% ��
�
�,�����%�1���/1�F,E��  4���3) 0&�5����
������	
� �
�	. �������� 3/2550 1�I��
����� 15 
������ 2550 ������	
����,%��
��,%������
��&�����0&�1�I���E=���0���<�'������1*I��5��
(�3�&�������'�������0���<�'������1�O���%9�� (spin-off) =��(4�������P ,-���1�I��
����� 14 
,
&��� 2551 E3������ �3,�����%9�� .<��/
% ���
�,�����%�1���/1�F,E��  4���3 (IIRC) =B�� 1*I��5�� 
��%���,�
 (��0&�����
&?&(D%,%1�����	�1
F�EL,/���1�.E�� (http://truehits.net) '3����
� 
 3��1���� 700,000 ��� LB��(4�������P DI��
������&� 49 0&��&
-����
% ��0&�*���������&����E�
�Q%��,%���5���%9���-
��
� DI��
������&� 51  

 5��b 2551 (,
&��� 6 2��
��� 2551) ��%9��P �����E3� �����5����%���0&����E3�
�I��j �
� 1.31 &������ 0&����-�5	� -�� E3�0�- ,���
���%���0&��-�5	� -��5������%���0&���%��� 
 4��
� 0.78 &������ ���4�E�(
�2%�&�����)�9�  4��
� 0.48 &������  �%31�O��4�E�,-��
�� 
=���*I��+�� 6.97 ��� '3��<&�-�,����$	�,-��
�� (Book Value per Share) # (%��13I��2��
��� 
2551��<-��� 16.97 ���  ���<&�-����,��E
� (par value) �
��&� 10 ���  0&�������	
��#��������
��%9��P �������� 4/2552 1�I��
����� 4 (%����� 2552 ������	
����,%1�F�	��5��1*%���
� 3��1����=��
��%9��P  �� 700,000 ��� 1�O� 1,000,000 ��� '3��������
��(���$5��- 4��
� 30,000 �
�� 
�������,��E
��
��&� 10 ��� 	4�������1,F��<&�-� 0&�5��?<�DI��
��13%���(%�2%LI���
��1*%���
�,�� 
(�3(-
�DI��
�� '3���
�,D
���(��/�&��=�����1*%���
� 3��1���� 1*I��5����%9��P =���'���(���
2
��% 1*%��1,%� 1	-� ���������5�=��3���5�$-=B�� ����-
�����I��j ����)����+0&�)��1��	�  
���=�������(-�1(�%����&��
� ��(4��������#��������(-�1(�%����&��
� (BOI) 5�(�=�
L�M,/0
�/ LB����%9����� �1=��������(-�1(�%����&��
� �,������
� 3��1������-������ 1 &������ 
�
��������=B����1����1�O�?<���������������� ���34�1�%����
% ��0&�*�:��5��0�-��%9��1��	��I��j 
1*I��5��E3����(%�2%���'�	�/���)�9���� 1����
1�I�������-�5	� -��5����
% ��0&�*�:�� 1�O�,�� 
��� ����� ������	
��#����������%9��P E3����,%1�F�	����� �3(��1�%��4�E���� 4��b 2551  
1�O��
�(4����,��������  4��
� 24,388.50 ��� 0&� -��1�%����?&5��0�-?<�DI��
�� 4��
� 5 ���  
,-��
�� �
�1�O�1�%� 350,000 ��� '3�5��&����� 1*I��5��?<�DI��
���4�1�%����?&���E3������LI���
��1*%��
�
�=����%9��P  (4�����(4�������P 5�+���?<�DI��
������&� 49  ���(%�2%LI���
��1*%���
�,��(�3(-
�
��I��%31�O� 4��
��
��1*%���
� 14,700 �
�� �<&�-�,���������,��E
� 147,000 ��� ������� ���������	
� 
?<�DI��
��*% ��#� �3(��1�%��4�E���� 4��b 2551 0&� -��1�%����?&5��0�-?<�DI��
��   (4�������P  �E3����
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1�%����?&����(%�� 4��
� 171,500 ��� 0&� ���1�%����?&��1�&I� �����&��
�1*%��5���%9��P 
 4��
� 24,500 ��� 

������� 5����
������	
��#���
���������%�������
�1*I�����*�:��
%���.�(,�/
0&�1��'�'&�� �������� 6/2552 1�I��
����� 10 ������� 2552 ������	
�E3�*% ��#�1�F�	�����&��
�
1*%��5���%9��P  4��
� 14,700 �
�� �<&�-����,��E
��
��&� 10 ��� �
�1�O�1�%����&��
�1*%�� 147,000 ��� 
'3�5	�1�%�(3���E3���� ����� -��1�%����?&=����%9��P 0&�5���4�1(�� �
�	. *% ��#���
��,%
,��&4�3��  B�=�1(��������	
�*% ��#���
��,%���&��
�1*%��5���%9�� .<��/
% ���
�,����
�%�1���/1�F,E��  4���3  

���&�1���3,��1��(��������������	
� 

������	
�*% ��#�0&�
��
��,%,�����1(�� 

�����!���	
�  ��
��,%���&��
�1*%��5���%9�� .<��/
% ���
�,�����%�1���/1�F,E��  4���3  4��
� 
14,700 �
�� �<&�-����,��E
��
��&� 10 ��� �
�1�O�1�%����&��
�1*%�� 147,000 ��� '3�5	�1�%�(3���E3����
 ����� -��1�%����?&=����%9��P 

4.2 0����:,���������������1� ��������	���
��
�
��������
�������� 
(����.) ������������
��	�
���������	����	���� 	�
!��" (����.)   

����
�.��3%HP ���?<��4��
����(4�������P E3�	��0 �������	
�
-� ,�����(4������%���
1��'�'&��(��(�1�.)����+ ((���.) E3� �3,���=B��,���,%�#���+��,��5����
������	
�1�I��
����� 
21 *C9)��� *... 2540 1*I��5����%���1��I�=-��(��(�1�.)����+ 0&�34�1�%��% �����I�� 
���(���(�
����5	�1��'�'&��(��(�1�.5�)����+ '3�����0�� (���. E3�1�%��34�1�%�'������
)��5,�.<��/1��'�'&���%1&F�����%�(/0&����*%
1,��/0�-�	�,% (1��1��) '3����4���3����1
&�
1�%��,�� 5 �b �&�� ������ �34�1�%����1�O����/��1*I��1&����,�1�� '3�E3���� �3(���������#
�
3��
� ��)����+,&�3����1
&� 5 �b �
�����(%�� 759.34 &������ 0&�5����
������	
�
�#��������*�:��
%���.�(,�/0&�1��'�'&��0�-�	�,% (�
�	.) �������� 7/2546 1�I��
����� 18 
������� 2546 ������	
����,%��
��,%5�� (���. 34�1�%����'3�5	�=�������� ����. ���	
�����
�����
�����������������
�������	��� � !���. �.�. 2545 '3�5��'���
�&���0&��������#��1�&I�
������3��34�1�%���� �
�������
��,%0?���� -���������#��� 4��b *... 2547 6 2549 0&�
�4���31�N�����5�� (���. 1�&����()�*1�O���%9�� 4���3)��5��b *... 2550 LB��,&�3����1
&� 
12 �b���?-���� (2540-2552) (���. E3�34�1�%�'���������1�O����'�	�/,-����1�.��-�������� 
'3��&��'������1�O����
�����+��'���(����*I��+��(��(�1�.(4�������-
����)����+  
�
�DB�1��I�=-��(��(�1�.)����+ (GINet) 0&�5�	-
� 6 �b ���34�1�%����5��<�0��'������*%1.9 
���5	��
����13%� (2547 - 2552) (���. E3�1������5����%���5�3���1��I�=-��0&����*�:������
1��'�'&��(��(�1�.5��������/��)����+��-�����
#)�*0&����
� �  B��4�5��?&��������� 
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5��b 2550 ���4�E�(
�2%  4��
� 16.37 &������ �b 2551  4��
� 8.63 &������ 0&��b 2552 ��3
-���
�4�E�(
�2% �����34�1�%���������# 7 &������  

5��b 2549 (4�������P E3����4�(������ 192/2549 &�
����� 20 *C. %���� 2549 1�I��� 
0,-�,����#��4������%����
���-
��I����
-��'��������%���1��'�'&��(��(�1�.5�(4�������P 
'3���
�,D
���(��/1*I��5�����34�1�%����3��������%���3���1��'�'&��(��(�1�.,-��j =��
��-
����5�(����3=��(4�������P 1�O�E���-�������(%�2%)�* ���
���-
��I� (�����
#�-�1*%��  
0&�&3�
��L�4�L���5�����4���� LB��(4����(-�1(�%�1��I�=-��
%(���% ���*%
1,��/ (((
�.) 0&� 
(���. ���% �������5�&�1�������0&�(-�1(�%����  B����1�F�'���(��� ��
��% ������0&� �3,���1�O�
��-
����5��- LB��,-���5����
������	
� �
�	. �������� 1/2552 1�I��
����� 23 �
�)�*��2/ 2552 
�
�	. ���,%5��=�������1
&����34�1�%����=�� ((
�. E� �DB�
����� 30 ������� 2552 1*I��
34�1�%����0���% ����=��'������0&��4��% �������L�4�L��� / �&������E��
��
������-
����
�I��)��5�(4�������P  

,-���5����
������	
��#���
���������%�������
�1*I�����*�:��
%���.�(,�/ 
0&�1��'�'&�� �������� 5/2552 1�I��
����� 13 (%����� 2552   !
��. %	
������&� ���������5�(-
� 
��� (���. ���=��(��1�,0&�=��1(��0�� ���,%������	
� �
�	. �������� 9/2550 1�I��
����� 26 
*C. %���� 2550 E�*% ��#�34�1�%���� 3 ������ *��������E3�1(��1*I��=��
��1�F�	�� 
5��&�����34�1�%����=�� ((
�. 0&� (���. 3�����  

1. �'(�������)(	&(*�����������������+ �������!,��(����- .'��������
������'��!��!����.'����!+� !�� �	���
	,�������������'�� ��	��+� �  ���(&�)�� ����. ��
.'
�
�!�/)0�����(���� 31 3(����� 2552 

2. .��������	,��������� � !!��. 0���'(���
�,���	 �������������(���� 30 
�(����� 2552  5��34�1�%����,-�1�O����	��
���
  �����������34�1�%�����-
���� (���. ��+� 
)(	&(*�����������������+ �������!,��(����- .'��������������'��!��!����.'����!+� !�� 
��
.'
��!�/)0�����(���� 31 3(����� 2552  )5���&��������  

�	��#���
���������%�������
�P %	
���&���/�� 
&����� !
��. �!�  .'���

�4�1(�� �
�	. *% ��#���
��,%,��&4�3��   ����%��/&�� ��+� �(����  15 �(����� 2552  
�'(	�����
�1��'�'&��(��(�1�.0&����(I��(�� 0&�?<��4��
����(4�������P E3���������I� 
5����&�1���3=����� �3,���'�������
���-
��I�,���,%�#���
���������%�������
�P 5�=�� 1 
������� 5�(-
�=�������
�1��'�'&��(��(�1�.P (����D34�1�%����E3�5�&��9#���� �3(��
�������#���'��������5�� (���. 34�1�%����0&�1�%� -���������#0����� LB�����
-�1�O�

%2�������3� 0,-�� E�-1*���*�5�����4���5	�1�O�1�,
0�-���� �3,���'�������
���-
��I�P  
,��=���������#��������*�:��
%���.�(,�/0&�1��'�'&��0�-�	�,% 
-�3�
���%���'�������
��
�-
��I����
-��(4�������*�:��
%���.�(,�/0&�1��'�'&��0�-�	�,%�����-
�����I�� *... 2546  
����(������ B����
��1�F�*������
-� 5��b�������# 2553 �
�34�1�%�����
���-
��I����
-�� 
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(4�������P 0&�(4��������&�3�����
�1��'�'&��(��(�1�.P 5�&��9#�1�%� -��0������-�� 
0&��-
�����4��4�=��������#3��� e-Government =�������
�1��'�'&��(��(�1�.P  
5��b�������# 2554 ���1�O����1*%���
���-
��I����=B�� 0&�1�O�����<�#�������
-��(��
�����
� LB�� ��4�5��'������.<��/*�:����%�����+��&�%1&F�����%�(/1�O�����<� ���-�� �34�1�%����
 �3,������/��5��-5�����D�3E�   B�=�1(��������	
��(
���
6'���	,��������� � !
��.  
&���
 !(���&.'��
 �!� .��� � ����. )�������������(*���� 9/2550 ��+� �(���� 26 �:�)����� 
2550 .'���)��;� ���(&�.��������	,��������� � !!��. 0���'(���
�,���	 ���������� 
���(���� 30 �(����� 2552 ��
	,��������&� ��<�����(������ �����������34�1�%�����
��
���� 
(���. 5��0&�
1(�F )��5�
����� 31 2��
��� 2552 )5���&��������   

���&�1���3,��1��(��������������	
� 

������	
�*% ��#�0&�
��
��,%,�����1(�� 

�����!���	
�  

1. �(
���
6'���	,��������� � !
��. &���
 !(���&.'��
 �!� .��� � ����. )�����
��������(*���� 9/2550 ��+� �(���� 26 �:�)����� 2550  

2.  ���(&���.��������	,��������� � !!��. 0���'(���
�,���	 �������������(���� 30 
�(����� 2552 ��
	,��������&� ��<�����(������ �����������34�1�%�����
��
���� 
(���. 5��0&�
1(�F )��5�
����� 31 2��
��� 2552 )5���&��������  

4.3 �������1��
���������A��!8	)�
�����:�� ��!
�9�,���:*��
�
����� 
8��B 2552 

 ����
�.��3%HP ���?<��4��
����(4�������P E3�	��0 �������	
�
-�  ,�����'������
*%1.9���5	��
����13%�=��(4�������P 3 '������ �I� (1) �����Q%��,%��� DNA Technology 
(DNATEC) E3������
��,%5��=�������1
&�34�1�%����=��'������P ���E� 2 �b ,���0,-
����� 1 
,
&��� 2550 DB�
����� 30 ������� 2552 1*I��34�1�%���� �3,�����%9���-
��
�'3�5	��'���� spin-off 
,���,%�#��������*�:��
%���.�(,�/0&�1��'�'&��0�-�	�,% (�
�	.) �������� 8/2550 1�I��
����� 
24 ������� 2550 (2) '���������1�����<�0�����E&�0�-� (
�	. (NOLP) E3������
��,%5��&�����
0���<�'������1�O���%9�� 4���3'3�5	��'���� spin-off =��(4�������P ��I�0�
���0��()�* 
1�O��<�0���I�����1����(� '3�E3�������=�������1
&�34�1�%����,���0,-13I��*C9)��� 2551  
DB�
����� 30 ������� 2552 ,���,% �
�	. �������� 1/2552 1�I��
����� 23 �
�)�*��2/ 2552 0&�  
(3) '������1��'�'&��0?-�
� �*%�*/ (PCBTEC) E3������
��,%5��&�����0���<�'������1�O�
��%9�� 4���3 0&�E3�������=�������1
&�34�1�%����,���0,-13I��1�9��� 2551 DB�
����� 30 
������� 2552 ,���,% �
�	. �������� 1/2552 1�I��
����� 23 �
�)�*��2/ 2552  LB������ 3 '������ 
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 �����4���3���
'������5�
����� 30 ������� 2552 0&�E3�34�1�%����,��0�
������E3������
��,% 
5��&����� �� �
�	. '3�(�
��
���I��������34�1�%���� E3�3����� 

1. �����Q%��,%��� DNA Technology (DNATEC) 
 (4�������P E3����4�(������ 75/2551 &�
����� 13 ������ 2551 0&��4�(������ 
158/2551 &�
����� 26 �%D
���� 2551 0,-�,����#��4����(����*��2�%,��-
��
�5���%9�� 4���3 
���0���<� ��'������ |�����Q%��,%��� DNA Technology~ 1*I��34�1�%������31&I��*��2�%,��-
��
� 
���1����(� 0&�*% ��#�=��1(��0&�1�I���E=����-
��
�  '3��#��4����P E3�1�J3'���(5���&
-�
*������'������P  �3�4�=��1(��'������,���'����0&�
%2��Q%��,%5����0���<�'������ 
1�O���%9��=��(4�������P(spin-off) 0&�1�F�	��5���&
-�*������'������P  �3�4�0?�2
��% =��
��%9�����&��
�0&�DI��
��'3�*������=��'������P LB���� E�- 4�1�O�,�����*��2�%,��-
��
��I���FE3�  
������� ���(�
�9/ ,���<&�
-� ?<��4��
����'������ DNATEC E3�5���
��1�F�
-����1�.E��������
��
 4�1�O�,�������-
����)����+���5����%��� 1*I��1�O� Reference Lab 5����������
�*�#%	�/ 3������ 
����
,%'������P 0&�'�������Q%��,%���P 5��1�O���-
����5�(����3=�����
%���&��1�9,�.�(,�/
1*I��5����%���,-�E�  �1�O�0�
������1����(��
-����0���<�'������1�O���%9��  0&�1�I��
����� 21 
(%����� 2552 ���
%���&��1�9,�.�(,�/E3��4�����(I�DB�(4�������P 1*I��=����'�������Q%��,%��� 
DNA Technology 1�O���-
����)��5,�����4����3<0&=�����
%���&��1�9,�.�(,�/ 1�I��� ��
'������ DNATEC ���
��	4���$3���1���%� GMOs, Fingerprint  '3�1G*�����3���,�
 =��
 
���1�O�(-
�(4���$5����*�:�����
%	�������3���=��
���������
%���&��E3��Q%��,%��<-1*I��	-
�
���1�.	�,%   3������ =���,������
,%'������P  �������3�
� 

(1) (4�������P 34�1�%����,��=���,������J30&�	4�����$	�=��'������P 
�
�����������1�%��<&�-����*�/(%�,-��j =��'������P 

(2) (4�������P 0&����
%���&��1�9,�.�(,�/ 1 � �0�-�?&���'�	�/ 
���1�%3=B�� ��'������P ,��(�3(-
�������
5�����B�=��,�&��
���-
��I�
5�'������P �b 2548 DB���  
��� 

(3) 5������� �3�4�����B�=��,�&��
���-
��I�G���5��- 5����(���(�
�
'������P �&�� ��5�����
%���&��1�9,�.�(,�/3<0&���?%3	��0&�
  
'3�(4�������P �� �������5�����(�
�9/P E�1�O������B�9�5��
'������P 5�	-
�����1
&���B�� ��
-�'������P  �(����D34�1�%����
,-�E�E3�1�� 

2. '���������1�����<�0�����E&�0�-� (
�	. (NOLP) 
 ��  
��� NOLP ��<-���
-��34�1�%����0���<�'������1�O���%9��'3�5	�
�'���� Spin-off =��(4�������P 0,-1�I��� �� NOLP ���(���$�� �������%��� �3���
'������P ���?%3*&�3E� ����1����0&�=��������=��(4�������P 0&�������?<��4��
����'������P 
E3�&����1�I��
����� 13 �%D
���� 2551  B�(-�?&,-������%��� �3���)��5���-����� 0&�1�O�1�,
5��
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���34�1�%����0���<�P E�-(����D0&�
1(�F ���
����� 30 ������� 2552 ������� 0?����34�1�%����5��-
 �(����D0���<�1�O���%9��E3�)��5�13I�������� 2553 '3����
-���b�������# 2552 
'������P E3�34�1�%����0��E=������
����/�� 1*I��1,���� �3�4�0?�2
��% =����%9�� Spin-off 0&�
(��D���
��(�5 =��*������'������P ��� ��-
�&��
����(4�������P 1*I�� �3,�����%9��  0&�5�
������	
��#����������%���'������P �������� 4/2552 
����� 1 ������� 2552 ������	
����,% 
3�����  (1) ��
��,%0?�34�1�%����0���<�1�O���%9�����'������P �4�1(��'3� �34�1�%����5��0&�
1(�F 
)��5�
����� 31 ������ 2553 (2) ��
��,%5������
&;&� )�(��  ?�. ������%���=��'������P  
0&��&
-�*��������3����%���1�O�?<����?%3	����� �3,�����%9���-
��
� 

3. '������1��'�'&��0?-�
� �*%�*/ (PCBTEC) 
 (4�������P E3����4�(������ 121/2551 &�
����� 7 *C9)��� 2551 0,-�,���

�#��������*% ��#����0���<�'������1��'�'&��0?-�
� �*%�*/ 1�O���%9�� 4���3  
'3��#��������P E3�(�
��
��1�F�
-�'������P ��'���(5����0���<�1�O���%9��E3�   B�1(��5��
34�1�%����������
�'������P 5��1�������� *�������� �3�4�0?�2
��% 5��1����(� 0&�5��1,�������
 �3�4�����(I�1	%$	
�(-�E�����&
-���%9��1�N����� 1*I��*% ��#���31&I��*��2�%,��-
��
� 
���1����(�,��1�#;/�����31&I������#��������P E3��4���3E
�  0,-1�I��� ��5�13I��������� 
2551 '������P ���(���$�����=�3()�*�&-�� 0&�5�13I��,
&��� 2551 1�%3��$��1��I��� ���
1(���4�5��,�����
3���?&%,  B�(-�?&�����5��E�-(����D(-����(%����5��&<����,���4���3  �
�DB�
��$��3����
�&���5�,4�0��-�(4���$E3�&����E� ���������5�13I��*C. %���� 2551 ���(�	�� 
G%�(�&2���� ?<��4��
����'������P E3�=�'�������&��E��Q%��,%������.<��/1��'�'&��
�%1&F�����%�(/0&����*%
1,��/0�-�	�,% �4�5��,4�0��-�?<��4��
����'������P 
-��&� (4�������P 
 B�,���(����?<��4��
����'������P ��5��-��0�� '3�E3�0,-�,������(�*� =�
1�O�5�  
5�����9����5�,4�0��-�?<��4��
����'������P ,���0,-
����� 26 *C. %���� 2551  B��4�5�����0���<�
'������1�O���%9��	�&�E� 1�I��� ��'������P  4�1�O�,���*I��M<�% ���5���&������<-5�()�*�����
.���)�*������?&%,0&����
%.
����/�
�,���� (����D,��(����
��,������=��
)���
,(������E3�  �
�����(����D1&����,�
1��E3�0&�E�-����$�����3������1�%� 3������ 5����
���	
��#����������%���'������P �������� 1/2552 1�I��
����� 27 ������ 2552 ������	
����,%
1�F�	��5��'������P =�1�%��
����13%� ��
�1�%���1�&I�  4��
� 3.5 &������ (
�1�%��
�
���13%����'������P E3������
��,%����(%�� 57 &������ E3�1�%���0&�
 47.98 &������ 0&���1�&I�������
E�-1�%� 4��
� 9.02 &������) 1*I��0����$�����=�3()�*�&-�� 0&�������
��<�0�����
34�1�%����1*I��1*%�����?&%,0&���%���������<&�-�1*%�� (Value Added) 5����(�3(-
�(<�=B�� '3���

%(����.�/�������34�1�%����E�(<-�<�0����%������1���%����1�O� One Stop Service (Electronic 
Assembly Service Center) ���(����D5����%���0�����
� �,���0,-������0�� (Design 
Concept) E� �DB����?&%,(%���� '3�5�	-
� 6 13I�����?-���� (������ 6 (%����� 2552)  '������P 
E3�34�1�%����0����$��)��5�,-��j 1*I��������
�����
�����4����5��1�O�����0&������(%�2%)�* 
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1*%��=B�� ������� '������P ���,���������
��������?&%,5�������(%�2%)�*1*I��5����?&���������1�O�
����-�*�5  5��1�O����3B�3<3�
��(�5 5��)��1��	�1=�����-
�&��
�  �
�����34�1�%����=�������
������,�+�� ISO 9001:2008 5��E3�)��5��b 2553   0&�5����
������	
��#��������
��%���'������P ���� ����  4 /2552 1�I� �
�����  2  ������� 2552 ���� ��	
����,% 1�F�	�� 
0?�2
��% =��'������P 0&�1�F��
�1(��,-� �
�	. =�=�������1
&�34�1�%����=��'������
���E���� 12 13I�� (,
&��� 2552 - ������� 2553) 1*I��������
�'������P 0&�1,�������0���<�
'������1�O���%9�� (spin-off) 5��0&�
1(�F )��5�13I��������� 2553  

������� (4�������P E3�1(��=��
��1�F�	��0�
���34�1�%����=��'������P  
���� 3 '������ 5����
������	
��#���
���������%�������
�1*I�����*�:��
%���.�(,�/0&�
1��'�'&�� �������� 6/2552  1�I��
����� 10 ������� 2552  LB��������	
����,%1�F�	�� 3����� 

1. 5���
,%'������*%1.9���5	��
����13%� |�����Q%��,%��� DNA Technology~   
'3�E�-0���<�'������P 1�O���%9��,��=��1(��=��'������P 0&�5���4�1(�� �
�	. *% ��#�
��
��,%,-�E� �������  5��(4�������P 34�1�%����,��=���,������
,%'������P �
�����1 � � 
0�-�?&���'�	�/������
%���&��1�9,�.�(,�/ 0&��4�1(��,-��#���
���������%�������
�P 
1*I��*% ��#���
��,%���0�-�?&���'�	�/  

2. 5��=�������1
&�34�1�%����=��'���������1�����<�0�����E&�0�-� 
(
�	. ���E���� 4 13I�� �I� ,���0,-
����� 1 ,
&��� 2552 DB�
����� 31 ������ 2553 1*I��
34�1�%����0���<�'������1�O���%9�� (spin-off) 5��0&�
1(�F  0&�5���4�1(�� �
�	. *% ��#���
��,%
,-�E� 

3. 5��=�������1
&�34�1�%����=��'������1��'�'&��0?-�
� �*%�*/ ���E�
��� 12 13I�� �I� ,���0,-
����� 1 ,
&��� 2552 DB�
����� 30 ������� 2553 1*I��������
�'������P 
0&�0���<�1�O���%9�� (spin-off) 5��0&�
1(�F  0&�5���4�1(�� �
�	. *% ��#���
��,%,-�E� 

 B�=�1(��������	
�*% ��#���
��,%0�
������34�1�%����=�� 3 '������3���&-�
 
=���,�� ,�����������	
��#���
���������%�������
�P 5���
��1�F�	�� ���&�1���3,��1��(��
������������	
� 

������	
�*% ��#�0&�
��
��,%,�����1(�� 

�����!���	
�  

1. ��
��,%����
,%'������*%1.9���5	��
����13%� |�����Q%��,%��� DNA Technology~  '3�E�-
0���<�'������P 1�O���%9��,��=��1(��=��'������P ������� 5��(4�������P 34�1�%�,��
=���,������
,%'������P �
�����1 � �0�-�?&���'�	�/������
%���&��1�9,�.�(,�/ 0&�
�4�1(���#���
���������%�������
�*% ��#�,-�E�  
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2. ��
��,%���=�������1
&�34�1�%����=��'���������1�����<�0�����E&�0�-� (
�	. ���E�
��� 4 13I�� �I� ,���0,-
����� 1 ,
&��� 2552 DB�
����� 31 ������ 2553 1*I��34�1�%����0���<�
'������1�O���%9�� (spin-off) 5��0&�
1(�F 

3. ��
��,%���=�������1
&�34�1�%����=��'������1��'�'&��0?-�
� �*%�*/ ���E���� 12
13I�� �I� ,���0,-
����� 1 ,
&��� 2552 DB�
����� 30 ������� 2553 1*I��������
�'������P
0&�0���<�1�O���%9�� (spin-off) 5��0&�
1(�F 

4.4 ��������� ���������,������9�����7�:��� (���	
��D����������) 
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4.5 ������0�����*9.)*��@77���
�����90�:��������: �������:
����������
8����7)��������*��)���
������1�����7����������������&
��
)� ������! 2 
(���	
��D����������) 
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������! 5 ��6!*���6!*���9 
5.1 ������0����:,��������2�������! 3 �B�9������ 2552 

�������,��1��(��������������	
� 

5.2 ������0����:,��������
�����*��*������������A�� 

������	
�1�F��
�5���4�1(��������	
�5�������	
����
D�3E� 

5.3 ���
6������
�����:��.*��
����� Java Elite Center ;��8�)�,������������
�
�6*.����������7
*������*�� 

������	
�1�F��
�5���4�1(��������	
�5�������	
����
D�3E� 

������! 6 ��6!*�*6!�Q 
6.1 �,���:������	
�
������������������������������
������

����	��� 
�� ���! 8/2552 

���.���%���/P �������0&�1&=��
��� 0 ��5��������	
������4���3������	
�
�#��������*�:��
%���.�(,�/0&�1��'�'&��0�-�	�,% (�
�	.) �������� 8/2552 5�
����� 14 
,
&��� 2552 1
&� 9.30 �. # �������	
�	��� 3 ����� (
�	. ('�2�) 

������	
�������� 
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6.2 �*�����0����� 

���.���%���/P �������0&�1&=��
��� E3�1����������	
�
-� (4�������P E3� �3
1��(��1?�0*�-?&���=��(4�������P  4��
� 3 ������ �I� (1) 0�
����Q%��,%5�������1�%�
�
���&�3)�����	�
)�*=��?&%,)�#;/ ��*I	3�30�&�*��2
����0������
� (2) 0�
����Q%��,%
1*I���
���&�3)�����	�
)�* (4��������34�1�%����3���1��'�'&��	�
)�*(���5��-��I�*��2


%.
���� 0&� (3)  3����=-�
1�F�1�� �b��� 5 G��� 55 13I��������� 6 (%����� *... 2552 

������	
�������� 

�������	
� ���� 13.10 �. 

���.���%���/  )<�%��,� 
���(�
 
;���(  �
3�(��
�2 

���(�
#�+2���/  0*��/�&��MN� 
?<� 3������������	
� 

���.���%���/  )<�%��,� 
?<�,�
 ������������	
� 
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��
����9��������7��������	
� ���	. 
�� ���! 7/2552 

������! ��6!*� �����!���	
� �����!�)*�:,�������� 01)�<�9��� 
2 ������������������	
� 

�������� 6/2552 
• ������������������	
� �������� 6/2552

'3�E�-�����0��E=
3.1 ()�
�'&�����0&����
% ��3���

*&�����5����1�.E�� 
• 5��(4�������P ���=��(��1�,0&�=��1(��0��

=��������	
�E�*% ��#�34�1�%����
• ���=��(��1�,0&�=��1(��0��

= � � ��� � � � 	
 � E �*%  � �# �
34�1�%����

• ?*
 . /  � � . � ��
?*
. (���(%�2%H)/
���2���&�(1,��/
*&������30��
0&�������(%�2/P

4.1 ���&��
�1*%��5���%9�� .<��/
% �� 
�
�,�����%�1���/1�F,E�� 
 4���3 

• ��
��,%,�����1(�� • 34�1�%����,��0�
������1(�� • ?�..<��/&��
�

4.2 ?&���34�1�%�������0���<� 
(4������%���1��'�'&��
(��(�1�.)����+ ((���.) 0&�
(4����(-�1(�%�1��I�=-��
%(���% 
���*%
1,��/ (((
�.) 

• ��
��,%,�����1(�� • 34�1�%����,��0�
������1(�� • ?�..<��/&��
�

4.3 ���0���<�'������*%1.9���5	�
�
����13%��������4���3���

'������5��b 2552 

• ��
��,%,�����1(�� • 34�1�%����,��0�
������1(�� • ?�..<��/&��
�
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������! ��6!*� �����!���	
� �����!�)*�:,�������� 01)�<�9��� 
4.4 ���0,-�,���*������,4�0��-�

��%��� �3��� (���	
�1G*��
�������) 

• ��.?�.����
��%������*����
�
��&

• ?*
./
��� ?*
.(#���/)

• ?*
./
��� ?*
.(#���/)



������������	
� �
�	. �������� 7/2552  ���� 24  �� 24 

����� 16 ������� 2552 

������! ��6!*� �����!���	
� �����!�)*�:,�������� 01)�<�9��� 
�
�	. *% ��#�,-�E� 

4.5 ������?&���(��=��1�F  �%�
�
�����?%3���&�1�%3 ��#�1�%3
�
��1(�����5���� ���1���
�-�(����'������.<��/
% ��0&�
*�:��(��*��2
/�
�� ������� 2 
(���	
�1G*���������) 

• ����1&=��
���P
�#��� � ��� �
(��=��1�F  �%�P

5.1 ������?&���34�1�%���� 
E,���(��� 3 �b�������# 2552 

• �������,��1��(��������������	
�

5.2 ������?&���34�1�%�����&�(
1,��/�����0&����1�9,� 

• ������	
����E�-E3�*% ��#� • �4�1(��������	
�5�������	
�
���
D�3E�

• ����1&=��
���P

5.3 ����I�1�%��
����13%�=��
'������ Java Elite Center 
)��5,�(4����(-�1(�%�1��I�=-��

%(���% ���*%
1,��/ 

• ������	
����E�-E3�*% ��#� • �4�1(��������	
�5�������	
�
���
D�3E�

• ����1&=��
���P

6.1 �4���3������	
�
�#��������*�:��

%���.�(,�/0&�1��'�'&��
0�-�	�,% �������� 8/2552 

• ������� •  �3���	
� �
�	. �������� 8/2552
5�
��*
2���  14 ,
&��� 2552
1
&� 9.30 �. # �������	
�	���
3 ����� (
�	.('�2�)

• ����1&=��
���P


